

APPLICATION OF SUMUDU TRANSFORM ON FRACTIONAL KINETIC EQUATION PERTAINING TO THE GENERALIZED K-WRIGHT FUNCTION

WAGDI F. S. AHMED¹ AND D. D. PAWAR

ABSTRACT. Fractional kinetic equations (FKEs) that includes a wide range of special functions have been applied to the description and resolution of many important physics and astrophysics problems greatly and successfully. We derive solutions for (FKEs) in this paper with the help of Sumudu transforms, including the product of the generalized k-Wright function. After that, other important special cases have been revealed. The use of the Generalized k-Wright function to obtain the (FKEs) solution is relatively general and can be used effectively to construct many well-known and novel (FKEs).

1. INTRODUCTION AND PRELIMINARIES

The importance of differential fractional equations in the fields not only in mathematics have applied science gained more attention dynamical systems, direction but also in mathematical physics, control and engineering systems to generate a mathematical model of many physical phenomena see [1, 5–9, 11, 13, 19–21, 28, 29, 33], [18].

The fractional calculus with the Mittag-Leffler law has been widely studied recently due to its significance and applicability in various fields see [16, 30, 31] (FKEs) of various models have been successfully applied in the last decades to describe and explain numerous physics and astrophysics problems [35–39].

¹corresponding author

2010 *Mathematics Subject Classification.* 26A33, 33C45, 33E12, 33C60, 33C70.

Key words and phrases. Mittag-Leffler Function, Pochhammer symbol, Fractional Kinetic Equation, k-Wright function, Riemann-Liouville operator and Sumudu Transform.

Thus, we remember the differential fractional equation associated with the rate of reaction change $\mathfrak{M} = \mathfrak{M}(t)$, the destruction rate $d = d(\mathfrak{M})$ and the production rate $p = p(\mathfrak{M})$ that given by Haubold and Mathai see [17] as the follows

$$\frac{d(\mathfrak{M})}{dt} = -d(\mathfrak{M}_t) + p(\mathfrak{M}_t)$$

where $\mathfrak{M}_t$ is the function identified by

$$\mathfrak{M}_t(t^*) = \mathfrak{M}(t - t^*), t^* > 0.$$

Neglecting the inhomogeneity in the quantity $\mathfrak{M}(t)$ that is the equation

$$(1.1) \quad \frac{d\mathfrak{M}}{dt} = -c_i \mathfrak{M}_i(t)$$

is part of the initial condition $\mathfrak{M}_i(t = 0) = \mathfrak{M}_0$ is the number of density of index i at time $t = 0$

The equation solution (1.1) is referred as

$$\mathfrak{M}_i(t) = \mathfrak{M}_0 e^{-c_i t}$$

On the other hand, we can take

$$(1.2) \quad \mathfrak{M}(t) - \mathfrak{M}_0 = c_0 {}_0D_t^{-1} \mathfrak{M}(t)$$

where the ${}_0D_t^{-1}$ is the standard fractional integral operator. In addition, the fractional generalization for the standard kinetic equation (1.2) defined by Haubold and Mathai see [17] as the form

$$(1.3) \quad \mathfrak{M}(t) - \mathfrak{M}_0 = c^\gamma {}_0D_t^{-\gamma} \mathfrak{M}(t)$$

where ${}_0D_t^{-\gamma}$ is the Riemann-Liouville fractional integral operator expressed as

$${}_0D_t^{-\gamma} f(t) = \frac{1}{\Gamma(\gamma)} \int_0^t (t-s)^{\gamma-1} f(s) ds, \quad (t > 0, \Re(\gamma) > 0).$$

Haubold and Mathai [17] provide the equation solution (1.3) in the form:

$$\mathfrak{M}(t) = \mathfrak{M}_0 \sum_{k=0}^{\infty} \frac{(-1)^k}{\Gamma(\gamma k + 1)} (ct)^{\gamma k}.$$

Further, Saxena and Kalla see [32] expressed the following fractional kinetic equation as the form

$$\mathfrak{M}(t) - \mathfrak{M}_0 f(t) = -c^\gamma ({}_0D_t^{-\gamma} \mathfrak{M})(t), \quad (\Re(\gamma) > 0)$$

where $\mathfrak{M}(t)$ refers to density number of a given species at every time t , $\mathfrak{M}_0 = \mathfrak{M}(0)$ is a density number that species at time $t = 0$, c is a constant and $f \in L(0, \infty)$.

The transform of Sumudu is widely used to solve different types of science and engineering problems, and was presented by Watugala see [42, 43]. The interested readers can use see [2–4, 22, 41] references for the all information of Sumudu transforms, properties, and their applications. The Sumudu transform over the set function:

$$A = f(t) | \exists \mathfrak{M}, \eta_1, \eta_2 > 0, |f(t)| < \mathfrak{M} e^{\frac{|t|}{\tau_j}}, t \in (-1)^j \times [0, \infty).$$

Is defined by the

$$G(\tau) = S[f(t); \tau] = \int_0^\infty e^{-t} f(\tau t) dt; \tau \in (-\eta_1, \eta_2).$$

In the following investigation, we establish generalized fractional kinetic equations' solution. The definitions of various Wright functions are presented in order to establish the fractional kinetic equation's solutions in the following investigation.

2. GENERALIZED K-WRIGHT FUNCTION

In 2007, Diaz and Pariguan see [10] provided the symbol of k -Pochhammer and the function of k -gamma which are defined as follows:

$$(2.1) \quad (y)_{n,k} := \begin{cases} \frac{\Gamma_k(y+nk)}{\Gamma_k(y)} & (k \in \mathbb{R}; y \in \mathbb{C} \setminus \{0\}) \\ y(y+k)\dots(y+(n-1)k) & (n \in \mathbb{N}; y \in \mathbb{C}) \end{cases}$$

also the relation with the classical Euler's gamma function as the form

$$\Gamma_k(y) = \int_0^\infty t^{y-1} e^{-\frac{t^k}{k}} dt$$

that is

$$\Gamma_k(y) = k^{\frac{y}{k}-1} \left(\frac{y}{k}\right)_., \quad (\Re(y) > 0).$$

where $y \in \mathbb{C}$, $k \in \mathbb{R}$ and $n \in \mathbb{N}$.

Now, when $k = 1$ the equation (2.1) reduces to the classical Pochhammer symbol and Euler's gamma function respectively. For more details see [26, 27].

Srivastava and Karisson, see [40] defined The Fox-Wright function as

$${}_n\psi_m[z] = {}_n\psi_m \left[\begin{matrix} (p_1, \alpha_1), \dots, (p_n, \alpha_n); \\ (q_1, \beta_1), \dots, (q_m, \beta_m); \end{matrix} z \right] = \sum_{r=0}^{\infty} \frac{\prod_{i=1}^n \Gamma(p_i + \alpha_i r)}{\prod_{j=1}^m \Gamma(q_j + \beta_j r)} \frac{z^r}{r!},$$

where the coefficients $\alpha_1, \dots, \alpha_n, \beta_1, \dots, \beta_m \in \mathbb{R}^+$ such that

$$1 + \sum_{j=1}^m \beta_j - \sum_{i=1}^n \alpha_i \geq 0$$

presented the generalized k -Wright function concept, that is shown in the following definition.

Definition 2.1. [14]

For $k \in \mathbb{R}^+$; $z \in \mathbb{C}$; $p_i, q_j \in \mathbb{C}$, $\alpha_i, \beta_j \in \mathbb{R}$ ($\alpha_i, \beta_j \neq 0$; $i = 1, 2, \dots, n$; $j = 1, 2, \dots, m$) and $(p_i + \alpha_i r), (q_j + \beta_j r) \in \mathbb{C} \setminus k\mathbb{Z}^-$, the generalized k -Wright function ${}_n\psi_m^k$ is defined by

$$(2.2) \quad {}_n\psi_m^k(z) = {}_n\psi_m^k \left[\begin{matrix} (p_i, \alpha_i)_{1,n} \\ (q_j, \beta_j)_{1,m} \end{matrix} \middle| z \right] = \sum_{r=0}^{\infty} \frac{\prod_{i=1}^n \Gamma_k(p_i + \alpha_i r)}{\prod_{j=1}^m \Gamma_k(q_j + \beta_j r)} \frac{z^r}{r!}.$$

We use the following notes to explain the state of convergence

$$\Delta = \sum_{j=1}^m \left(\frac{\beta_j}{k} \right) - \sum_{i=1}^n \left(\frac{\alpha_i}{k} \right); \quad \delta = \prod_{i=1}^n \left| \frac{\alpha_i}{k} \right|^{\frac{-\alpha_i}{k}} \prod_{j=1}^m \left| \frac{\beta_j}{k} \right|^{\frac{-\beta_j}{k}}$$

$$\mu = \sum_{j=1}^m \left(\frac{q_j}{k} \right) - \sum_{i=1}^n \left(\frac{p_i}{k} \right) + \frac{n-m}{2}$$

- (a). if $\Delta > -1$ the series (2.2) is completely convergent for all $z \in \mathbb{C}$ and generalized k -Wright function ${}_n\psi_m^k(z)$ is an entire function of z
- (b). if $\Delta = -1$ then the series (2.2) is completely convergent for all $|z| < \delta$ and of $|z| = \delta$, $\Re(\mu) > \frac{1}{2}$.

By giving the proper parameter values the following relation of the generalized k -Wright function ${}_n\psi_m^k(z)$ in terms of family of Mittag-Leffler function see [12, 15, 34, 44, 45], [23, 25] defined as follows

$$(2.3) \quad {}_1\psi_2^k(z) = {}_1\psi_2^k \left[\begin{matrix} (y, k) \\ (\beta, \alpha), (y, 0) \end{matrix} \middle| z \right] = \sum_{r=0}^{\infty} \frac{(y)_{r,k} z^r}{\Gamma_k(r\alpha + \beta) r!} = E_{k,\alpha,\beta}^y(z)$$

$$(2.4) \quad {}_1\psi_2^k(z) = {}_1\psi_2^k \left[\begin{matrix} (y\tau, k) \\ (\beta, \alpha), (y, 0) \end{matrix} \middle| z \right] = \sum_{r=0}^{\infty} \frac{(y)_{r,\tau,k} z^r}{\Gamma_k(r\alpha + \beta) r!} = E_{k,\alpha,\beta}^{y,\tau}(z)$$

$$(2.5) \quad {}_1\psi_2^1(z) = {}_1\psi_2^1 \left[\begin{matrix} (1, 1) \\ (1, \alpha), (y, 0) \end{matrix} \middle| z \right] = \sum_{r=0}^{\infty} \frac{z^r}{\Gamma(r\alpha + 1)} = E_{\alpha}(z)$$

$$(2.6) \quad {}_1\psi_2^1(z) = {}_1\psi_2^k \left[\begin{matrix} (y, 1) \\ (\beta, \alpha), (y, 0) \end{matrix} \middle| z \right] = \sum_{r=0}^{\infty} \frac{(y)_r z^r}{\Gamma(r\alpha + \beta)r!} = E_{\alpha, \beta}^y(z)$$

$$(2.7) \quad {}_1\psi_2^1(z) = {}_1\psi_2^1 \left[\begin{matrix} (y, \tau) \\ (\beta, \alpha), (y, 0) \end{matrix} \middle| z \right] = \sum_{r=0}^{\infty} \frac{(y)_r \tau^r z^r}{\Gamma(r\alpha + \beta)r!} = E_{\alpha, \beta}^{y, \tau}(z)$$

$$(2.8) \quad {}_1\psi_2^1(z) = {}_1\psi_2^1 \left[\begin{matrix} (1, 1) \\ (\beta, \alpha), (y, 0) \end{matrix} \middle| z \right] = \sum_{r=0}^{\infty} \frac{z^r}{\Gamma(r\alpha + \beta)} = E_{\alpha, \beta}(z)$$

$${}_n\psi_m^1(z) = {}_n\psi_m^1 \left[\begin{matrix} (p_i, \alpha_i)_{1, n} \\ (q_j, \beta_j)_{1, m} \end{matrix} \middle| z \right] = {}_n\psi_m(z).$$

3. SOLUTION OF GENERALIZED FRACTIONAL KINETIC EQUATIONS BY USING SUMUDU TRANSFORM

In this part, we investigated the solutions of the generalized fractional kinetic equations by considering generalized k -Wright function using the method of Sumudu transforms.

Watugala [42, 43], described and studied Sumudu transform in order to simplify the steps of solving integral and differential equations in the time domain. Sumudu transform has very unique and beneficial properties in solving the engineering and science problems that govern kinetic equation.

Remark 3.1. In this part, solutions for the fractional kinetic equations as for the generalized Mittag-Leffler are acquired $E_{\alpha, \beta}(z)$ see [24], Which is defined as the form:

$$E_{\alpha, \beta}(z) = \sum_{r=0}^{\infty} \frac{z^r}{\Gamma(\alpha r + \beta)}, \quad \Re(\alpha) > 0, \quad \Re(\beta) > 0.$$

Theorem 3.1. Let $\Re(\gamma) > 0, \delta > 0, c > 0, k \in \mathbb{R}^+$; $c, z \in \mathbb{C}$; $p_i, q_j \in \mathbb{C}$, $\alpha_i, \beta_j \in \mathbb{R}$ ($\alpha_i, \beta_j \neq 0$; $i = 1, 2, \dots, n$; $j = 1, 2, \dots, m$) and $(p_i + \alpha_i r), (q_j + \beta_j r) \in \mathbb{C} \setminus k\mathbb{Z}^-$, then the following equation

$$(3.1) \quad \mathfrak{N}(t) - \mathfrak{N}_0 \left(\prod_{\lambda=1}^l n_{\lambda} \psi_{m_{\lambda}}^{k_{\lambda}} \left[\begin{matrix} (p_{\lambda i}, \alpha_{\lambda i})_{1, n_{\lambda}} \\ (q_{\lambda j}, \beta_{\lambda j})_{1, m_{\lambda}} \end{matrix} \middle| c^{\gamma} t^{\gamma} \right] \right) = -\delta^{\gamma} {}_0 D_t^{-\gamma} \mathfrak{N}(t)$$

has a solution given by

$$\begin{aligned} \mathfrak{N}(t) = \mathfrak{N}_0 & \left(\prod_{\lambda=1}^l \sum_{r=0}^{\infty} \frac{\prod_{i=1}^{n_{\lambda}} \Gamma_{k_{\lambda}}(p_{\lambda i} + \alpha_{\lambda i} r)}{\prod_{j=1}^{m_{\lambda}} \Gamma_{k_{\lambda}}(q_{\lambda j} + \beta_{\lambda j} r)} \right) \left(\frac{c^{\gamma} t^{\gamma}}{r!} \right)^{\lambda} \times \frac{1}{t} \\ & \times \Gamma(\gamma r \lambda + 1) E_{\gamma, \gamma r \lambda}(-\delta^{\gamma} t^{\gamma}). \end{aligned}$$

Proof. The Sumudu transform of Riemann- Liouville fractional integral operator is presented as

$$(3.2) \quad \mathcal{S} \{ {}_0 D_t^{-\gamma} f(t); \tau \} = (\tau)^{\gamma} G(\tau)$$

where $G(\tau) = \int_0^{\infty} e^{-t} f(\tau t) dt$. Now, applying the Sumudu transform to both sides of equation (3.1) and using (3.2) we have

$$\mathcal{S} \left(\mathfrak{N}(t); \tau \right) = \mathfrak{N}_0 \mathcal{S} \left(\prod_{\lambda=1}^l n_{\lambda} \psi_{m_{\lambda}}^{k_{\lambda}} \left[\begin{matrix} (p_{\lambda i}, \alpha_{\lambda i})_{1, n_{\lambda}} \\ (q_{\lambda j}, \beta_{\lambda j})_{1, m_{\lambda}} \end{matrix} \middle| c^{\gamma} t^{\gamma}; \tau \right] \right) - \delta^{\gamma} \mathcal{S} \left({}_0 D_t^{-\gamma} \mathfrak{N}(t); \tau \right)$$

that is

$$(3.3) \quad \mathfrak{N}(\tau) = \mathfrak{N}_0 \int_0^{\infty} e^{-t} \left(\prod_{\lambda=1}^l \sum_{r=0}^{\infty} \frac{\prod_{i=1}^{n_{\lambda}} \Gamma_{k_{\lambda}}(p_{\lambda i} + \alpha_{\lambda i} r)}{\prod_{j=1}^{m_{\lambda}} \Gamma_{k_{\lambda}}(q_{\lambda j} + \beta_{\lambda j} r)} \right) \left(\frac{c^{\gamma} (\tau t)^{\gamma}}{r!} \right)^{\lambda} dt - \delta^{\gamma} (\tau)^{\gamma} \mathfrak{N}(\tau),$$

by interchanging the order of integration and summation in the equation (3.3), we obtain

$$\begin{aligned} \mathfrak{N}(\tau) [1 + \delta^{\gamma} (\tau)^{\gamma}] &= \mathfrak{N}_0 \left(\prod_{\lambda=1}^l \sum_{r=0}^{\infty} \frac{\prod_{i=1}^{n_{\lambda}} \Gamma_{k_{\lambda}}(p_{\lambda i} + \alpha_{\lambda i} r)}{\prod_{j=1}^{m_{\lambda}} \Gamma_{k_{\lambda}}(q_{\lambda j} + \beta_{\lambda j} r)} \right) \int_0^{\infty} e^{-t} \left(\frac{c^{\gamma} (\tau t)^{\gamma}}{r!} \right)^{\lambda} dt \\ &= \mathfrak{N}_0 \left(\prod_{\lambda=1}^l \sum_{r=0}^{\infty} \frac{\prod_{i=1}^{n_{\lambda}} \Gamma_{k_{\lambda}}(p_{\lambda i} + \alpha_{\lambda i} r)}{\prod_{j=1}^{m_{\lambda}} \Gamma_{k_{\lambda}}(q_{\lambda j} + \beta_{\lambda j} r)} \right) \left(\frac{c^{\gamma} (\tau)^{\gamma}}{r!} \right)^{\lambda} \int_0^{\infty} e^{-t} t^{\gamma r \lambda} dt \\ (3.4) \quad &= \mathfrak{N}_0 \left(\prod_{\lambda=1}^l \sum_{r=0}^{\infty} \frac{\prod_{i=1}^{n_{\lambda}} \Gamma_{k_{\lambda}}(p_{\lambda i} + \alpha_{\lambda i} r)}{\prod_{j=1}^{m_{\lambda}} \Gamma_{k_{\lambda}}(q_{\lambda j} + \beta_{\lambda j} r)} \right) \left(\frac{c^{\gamma} (\tau)^{\gamma}}{r!} \right)^{\lambda} \Gamma(\gamma r \lambda + 1). \end{aligned}$$

Equation (3.4) leads to

$$(3.5) \quad \mathfrak{N}(\tau) = \mathfrak{N}_0 \left(\prod_{\lambda=1}^l \sum_{r=0}^{\infty} \frac{\prod_{i=1}^{n_{\lambda}} \Gamma_{k_{\lambda}}(p_{\lambda i} + \alpha_{\lambda i} r)}{\prod_{j=1}^{m_{\lambda}} \Gamma_{k_{\lambda}}(q_{\lambda j} + \beta_{\lambda j} r)} \right) \left(\frac{c^{r\gamma}(\tau)^{r\gamma}}{r!} \right)^{\lambda} \Gamma(\gamma r \lambda + 1) \sum_{\mu=0}^{\infty} (-1)^{\mu} (\delta \tau)^{\gamma \mu}$$

Now, taking inverse Sumudu transform on both sides of the equation (3.5), and using

$$\mathcal{S}^{-1}\{\tau^{\gamma}; t\} = \frac{t^{\gamma-1}}{\Gamma(\gamma)}, \quad (\mathcal{R}(\gamma) > 0)$$

we have

$$\begin{aligned} \mathcal{S}^{-1}\{\mathfrak{N}(\tau)\} &= \mathfrak{N}_0 \left(\prod_{\lambda=1}^l \sum_{r=0}^{\infty} \frac{\prod_{i=1}^{n_{\lambda}} \Gamma_{k_{\lambda}}(p_{\lambda i} + \alpha_{\lambda i} r)}{\prod_{j=1}^{m_{\lambda}} \Gamma_{k_{\lambda}}(q_{\lambda j} + \beta_{\lambda j} r)} \right) \left(\frac{c^{r\gamma}}{r!} \right)^{\lambda} \\ &\quad \times \Gamma(\gamma r \lambda + 1) \mathcal{S}^{-1} \left(\sum_{\mu=0}^{\infty} (-1)^{\mu} (\delta)^{\gamma \mu} (\tau)^{\gamma r \lambda + \gamma \mu} \right). \end{aligned}$$

That is

$$\begin{aligned} \mathfrak{N}(t) &= \mathfrak{N}_0 \left(\prod_{\lambda=1}^l \sum_{r=0}^{\infty} \frac{\prod_{i=1}^{n_{\lambda}} \Gamma_{k_{\lambda}}(p_{\lambda i} + \alpha_{\lambda i} r)}{\prod_{j=1}^{m_{\lambda}} \Gamma_{k_{\lambda}}(q_{\lambda j} + \beta_{\lambda j} r)} \right) \left(\frac{c^{r\gamma}}{r!} \right)^{\lambda} \\ &\quad \times \Gamma(\gamma r \lambda + 1) \left(\sum_{\mu=0}^{\infty} (-1)^{\mu} (\delta)^{\gamma \mu} \frac{(t)^{\gamma r \lambda + \gamma \mu - 1}}{\Gamma(\gamma r \lambda + \gamma \mu)} \right) \\ \mathfrak{N}(t) &= \mathfrak{N}_0 \left(\prod_{\lambda=1}^l \sum_{r=0}^{\infty} \frac{\prod_{i=1}^{n_{\lambda}} \Gamma_{k_{\lambda}}(p_{\lambda i} + \alpha_{\lambda i} r)}{\prod_{j=1}^{m_{\lambda}} \Gamma_{k_{\lambda}}(q_{\lambda j} + \beta_{\lambda j} r)} \right) \left(\frac{c^{r\gamma} t^{r\gamma}}{r!} \right)^{\lambda} \times \frac{1}{t} \\ (3.6) \quad &\quad \times \Gamma(\gamma r \lambda + 1) \left(\sum_{\mu=0}^{\infty} (-1)^{\mu} \frac{(t^{\gamma} \delta^{\gamma})^{\mu}}{\Gamma(\gamma r \lambda + \gamma \mu)} \right). \end{aligned}$$

Now, we can write equation (3.6) as

$$\begin{aligned} \mathfrak{N}(t) &= \mathfrak{N}_0 \left(\prod_{\lambda=1}^l \sum_{r=0}^{\infty} \frac{\prod_{i=1}^{n_{\lambda}} \Gamma_{k_{\lambda}}(p_{\lambda i} + \alpha_{\lambda i} r)}{\prod_{j=1}^{m_{\lambda}} \Gamma_{k_{\lambda}}(q_{\lambda j} + \beta_{\lambda j} r)} \right) \left(\frac{c^{r\gamma} t^{r\gamma}}{r!} \right)^{\lambda} \times \frac{1}{t} \\ &\quad \times \Gamma(\gamma r \lambda + 1) E_{\gamma, \gamma r \lambda}(-\delta^{\gamma} t^{\gamma}). \end{aligned}$$

□

Theorem 3.2. Let $\Re(\gamma) > 0, c > 0, k \in \mathbb{R}^+$; $c, z \in \mathbb{C}$; $p_i, q_j \in \mathbb{C}$, $\alpha_i, \beta_j \in \mathbb{R}$ ($\alpha_i, \beta_j \neq 0$; $i = 1, 2, \dots, n$; $j = 1, 2, \dots, m$) and $(p_i + \alpha_i r), (q_j + \beta_j r) \in \mathbb{C} \setminus k\mathbb{Z}^-$, then the following equation

$$\mathfrak{N}(t) - \mathfrak{N}_0 \left(\prod_{\lambda=1}^l n_{\lambda} \psi_{m_{\lambda}}^{k_{\lambda}} \left[\begin{matrix} (p_{\lambda i}, \alpha_{\lambda i})_{1, n_{\lambda}} \\ (q_{\lambda j}, \beta_{\lambda j})_{1, m_{\lambda}} \end{matrix} \middle| c^{\gamma} t^{\gamma} \right] \right) = -c^{\gamma} {}_0D_t^{-\gamma} \mathfrak{N}(t)$$

has a solution given by

$$\begin{aligned} \mathfrak{N}(t) = \mathfrak{N}_0 & \left(\prod_{\lambda=1}^l \sum_{r=0}^{\infty} \frac{\prod_{i=1}^{n_{\lambda}} \Gamma_{k_{\lambda}}(p_{\lambda i} + \alpha_{\lambda i} r)}{\prod_{j=1}^{m_{\lambda}} \Gamma_{k_{\lambda}}(q_{\lambda j} + \beta_{\lambda j} r)} \right) \left(\frac{c^{\gamma} t^{\gamma}}{r!} \right)^{\lambda} \times \frac{1}{t} \\ & \times \Gamma(\gamma r \lambda + 1) E_{\gamma, \gamma r \lambda}(-c^{\gamma} t^{\gamma}). \end{aligned}$$

Theorem 3.3. Let $\Re(\gamma) > 0, c > 0, k \in \mathbb{R}^+$; $c, z \in \mathbb{C}$; $p_i, q_j \in \mathbb{C}$, $\alpha_i, \beta_j \in \mathbb{R}$ ($\alpha_i, \beta_j \neq 0$; $i = 1, 2, \dots, n$; $j = 1, 2, \dots, m$) and $(p_i + \alpha_i r), (q_j + \beta_j r) \in \mathbb{C} \setminus k\mathbb{Z}^-$, then the following equation

$$\mathfrak{N}(t) - \mathfrak{N}_0 \left(\prod_{\lambda=1}^l n_{\lambda} \psi_{m_{\lambda}}^{k_{\lambda}} \left[\begin{matrix} (p_{\lambda i}, \alpha_{\lambda i})_{1, n_{\lambda}} \\ (q_{\lambda j}, \beta_{\lambda j})_{1, m_{\lambda}} \end{matrix} \middle| t \right] \right) = -c^{\gamma} {}_0D_t^{-\gamma} \mathfrak{N}(t)$$

has a solution given by

$$\begin{aligned} \mathfrak{N}(t) = \mathfrak{N}_0 & \left(\prod_{\lambda=1}^l \sum_{r=0}^{\infty} \frac{\prod_{i=1}^{n_{\lambda}} \Gamma_{k_{\lambda}}(p_{\lambda i} + \alpha_{\lambda i} r)}{\prod_{j=1}^{m_{\lambda}} \Gamma_{k_{\lambda}}(q_{\lambda j} + \beta_{\lambda j} r)} \right) \left(\frac{t^{\gamma}}{r!} \right)^{\lambda} \times \frac{1}{t} \\ & \times \Gamma(r \lambda + 1) E_{\gamma, r \lambda}(-c^{\gamma} t^{\gamma}). \end{aligned}$$

Proof. The proofs of Theorem 3.2 and Theorem 3.3 are similar with the proof of Theorem 3.1. So it is omitted here. $\square$

4. SPECIAL CASES

- (i) From previous results if we choose $\lambda = 1$, in Theorem 3.1, Theorem 3.2 and Theorem 3.3 then we have the following corollaries:

Corollary 4.1. Let $\Re(\gamma) > 0, \delta > 0, c > 0, k \in \mathbb{R}^+$; $c, z \in \mathbb{C}$; $p_i, q_j \in \mathbb{C}$, $\alpha_i, \beta_j \in \mathbb{R}$ ($\alpha_i, \beta_j \neq 0$; $i = 1, 2, \dots, n$; $j = 1, 2, \dots, m$) and $(p_i + \alpha_i r), (q_j + \beta_j r) \in \mathbb{C} \setminus k\mathbb{Z}^-$, then the following equation

$$\mathfrak{N}(t) - \mathfrak{N}_0 \left(n \psi_m^k \left[\begin{matrix} (p_i, \alpha_i)_{1, n} \\ (q_j, \beta_j)_{1, m} \end{matrix} \middle| c^{\gamma} t^{\gamma} \right] \right) = -\delta^{\gamma} {}_0D_t^{-\gamma} \mathfrak{N}(t)$$

has a solution given by

$$\mathfrak{N}(t) = \mathfrak{N}_0 \left(\sum_{r=0}^{\infty} \frac{\prod_{i=1}^n \Gamma_k(p_i + \alpha_i r)}{\prod_{j=1}^m \Gamma_k(q_j + \beta_j r)} \right) \left(\frac{c^{\gamma} t^{\gamma}}{r!} \right) \times \frac{1}{t} \\ \times \Gamma(\gamma r + 1) E_{\gamma, \gamma r}(-\delta^{\gamma} t^{\gamma}).$$

Corollary 4.2. Let $\Re(\gamma) > 0, \delta > 0, c > 0, k \in \mathbb{R}^+$; $c, z \in \mathbb{C}$; $p_i, q_j \in \mathbb{C}$, $\alpha_i, \beta_j \in \mathbb{R}$ ($\alpha_i, \beta_j \neq 0$; $i = 1, 2, \dots, n$; $j = 1, 2, \dots, m$) and $(p_i + \alpha_i r), (q_j + \beta_j r) \in \mathbb{C} \setminus k\mathbb{Z}^-$, then the following equation

$$\mathfrak{N}(t) - \mathfrak{N}_0 \left({}_n\psi_m^k \left[\begin{matrix} (p_i, \alpha_i)_{1,n} \\ (q_j, \beta_j)_{1,m} \end{matrix} \middle| c^{\gamma} t^{\gamma} \right] \right) = -c^{\gamma} {}_0D_t^{-\gamma} \mathfrak{N}(t)$$

has a solution given by

$$\mathfrak{N}(t) = \mathfrak{N}_0 \left(\sum_{r=0}^{\infty} \frac{\prod_{i=1}^n \Gamma_k(p_i + \alpha_i r)}{\prod_{j=1}^m \Gamma_k(q_j + \beta_j r)} \right) \left(\frac{c^{\gamma} t^{\gamma}}{r!} \right) \times \frac{1}{t} \\ \times \Gamma(\gamma r + 1) E_{\gamma, \gamma r}(-c^{\gamma} t^{\gamma}).$$

Corollary 4.3. Let $\Re(\gamma) > 0, \delta > 0, c > 0, k \in \mathbb{R}^+$; $c, z \in \mathbb{C}$; $p_i, q_j \in \mathbb{C}$, $\alpha_i, \beta_j \in \mathbb{R}$ ($\alpha_i, \beta_j \neq 0$; $i = 1, 2, \dots, n$; $j = 1, 2, \dots, m$) and $(p_i + \alpha_i r), (q_j + \beta_j r) \in \mathbb{C} \setminus k\mathbb{Z}^-$, then the following equation

$$\mathfrak{N}(t) - \mathfrak{N}_0 \left({}_n\psi_m^k \left[\begin{matrix} (p_i, \alpha_i)_{1,n} \\ (q_j, \beta_j)_{1,m} \end{matrix} \middle| t \right] \right) = -c^{\gamma} {}_0D_t^{-\gamma} \mathfrak{N}(t)$$

has a solution given by

$$\mathfrak{N}(t) = \mathfrak{N}_0 \left(\sum_{r=0}^{\infty} \frac{\prod_{i=1}^n \Gamma_k(p_i + \alpha_i r)}{\prod_{j=1}^m \Gamma_k(q_j + \beta_j r)} \right) \left(\frac{t^r}{r!} \right) \times \frac{1}{t} \\ \times \Gamma(r + 1) E_{\gamma, r}(-c^{\gamma} t^{\gamma}).$$

- (ii) When we choose parameter values according as in equations (2.3), (2.4), (2.5), (2.6), (2.7) and (2.8). The new results for the product of the Mittag-Leffler functions can then be derived from the results in Theorem 3.1, Theorem 3.2 and Theorem 3.3.

5. CONCLUSION

In this study, a new and generalized solution of the fractional kinetic equation using the Sumudu transform technique, which involves generalized k -Wright function, is developed. In terms of the solution of the kinetic fractional equation described above, the manifold generality of the generalized function k -Wright is defined. In fact, the findings obtained here are very capable of generating a quite large number of established and presumably new results.

REFERENCES

- [1] P. AGARWAL, S.K. NTOUYAS, S. JAIN, M. CHAND, G.SINGH: *Fractional kinetic equations involving generalized k -bessel function via sumudu transform*, Alexandria Eng.J., 2017.
- [2] M. A. ASIRU: *Sumudu transfor of the solution of integral equations of convolution type*, Int. J. Math. Educ. Sci. Technol., **32**(6) (2001), 906-910.
- [3] F. B. M. BELGACEM, A. A. KARABALLI: *Sumudu transform, fundamental properties investigations and applications*, Journal of Applied Mathematics and Stochastic Analysis, Article ID 91083, 23 pages, 2006.
- [4] F. B. M. BELGACEM, A. A. KARABALLI, L. S. KALLA: *Analytical investigations of the Sumudu transform and applications to integral production equations*, Math. Probl. Engr., **3** (2003), 103-118.
- [5] S. BHATTER, A. MATHUR, D. KUMAR, K. S. NISAR, J. SINGH: *Fractional modified Kawahara equation with Mittag Leffler law*, Chaos, Solitons and Fractals, (2019), 109508.
- [6] M. CHAND, R. KUMAR, S. BIR SINGH: *Certain Fractional Kinetic Equations Involving Product of Generalized k -Wright function*, Bulletin of the Marathwada Mathematical Society **20**(1) (2019), 22-32.
- [7] V. B. L. CHAURASIA, D. KUMAR: *On the Solutions of Generalized Fractional Kinetic Equations*, Adv. Studies Theor. Phys., **4**(16) (2010), 773 - 780.
- [8] V. B. L. CHAURASIA, S. C. PANDEY: *On the new computable solution of the generalized fractional kinetic equations involving the generalized function for the fractional calculus and related functions*, Astrophys. Space Sci., **317**(3) (2008), 213-219.
- [9] A. CHOUHAN, S. D. PUROHIT, S. SARASWAT: *An alternative method for solving generalized differential equations of fractional order*, Kragujevac J. Math., **37**(2) (2013), 299-306.
- [10] R. DIAZ, E. PARIGUAN: *On hypergeometric functions and k -Pochhammer symbol*, Divulgaciones Mathematicas., **15**(2) (2007), 179-192.
- [11] G. A. DORREGO, D. KUMAR: *A Generalization of the Kinetic Eguation using the Prabhakar - type operators*, Honam Mathematical J., **39**(3) (2017), 401-416.
- [12] G. A. DORREGO, R. A. CERUTTI: *The k -Mittag-Leffler function*, volume 7, Int. J. Con-temp. Math. Sci., 2012.

- [13] B. K. DUTTA, L. K. ARORA, J. BORAH: *On the Solution of Fractional Kinetic Equation*, Gen. Math. Notes, **6**(1) (2011), 40–48.
- [14] K. S. GEHLOT, J. C. PRAJAPATI: *On generalization of k -wright function and its properties*, Journal of Fractional Calculus and Applications, **4** (2013), 283-289.
- [15] K. S. GEHLOT: *The generalized k - mittag-leffer function*, Int. J. Contemp. Math. Sciences, **7** (2012), 2213-2219.
- [16] A. GUPTA, C. L. PARIHAR: *On solutions of generalized kinetic equations of fractional order*, Bol. Soc. Paran. Mat., **32**(1) (2014), 181-189.
- [17] H.J. HAUBOLD, A. M. MATHAI: *The fractional kinetic equation and thermonuclear functions*, Astrophys. Space Sci., **273** (2000), 53-63.
- [18] A. A. KILBAS, H. M. SRIVASTAVA, J. J. TRUJILLO: *Theory and Applications of Fractional Differential Equations*, Elsevier, Amsterdam, 2006.
- [19] D. KUMAR, J. SINGH, M. AL QURASHI, D. BALEANU: *A new fractional SIRS-SI malaria disease model with application of vaccines*, Anti-malarial drugs, and spraying, Advances in Difference Equations, **2019** (2019), 278.
- [20] D. KUMAR, J. SINGH, D. BALEANU: *A new analysis of Fornberg -Whitham equation pertaining to a fractional derivative with Mittag-Leffler type kernel*, European Journal of Physical Plus, **133**(2) (2018), 70.
- [21] D. KUMAR, J. SINGH, D. BALEANU: *On the analysis of vibration equation involving a fractional derivative with Mittag-Leffler law*, Math. Methods Appl. Sci., 2019.
- [22] D. LOONKER, P. K. BANERJI: *On the solution of distributional Abel integral equation by distributional Sumudu transform*, International Journal of Mathematics and Mathematical Sciences, Article ID 480528, 8 pages, 2011.
- [23] G. M. MITTAG-LEFFLER: *Sur la nouvelle fonction e_{α}* . C.R. Acad., Sci. Paris, **137** (1903), 554-558.
- [24] G. M. MITTAG-LEFFLER: *Sur la representation analytique d'une fonction monogene cinquieme note*, Acta Math., **29** (1905), 101-181.
- [25] T. R. PRABHAKAR.: *A singular integral equation with a generalized mittag-leffler function in the kernel*, Yokohama Math. J., **19** (1971), 7-15.
- [26] L. ROMERO, R. CERUTTI: *Fractional fourier transform and special k function*, Int. J. Contemp. Math.Sci., **7** (2012), 693-704.
- [27] L. ROMERO, R. CERUTTI, L. LUQUE: *A new fractional fourier transform and convolutions product*, Int.J. Pure Appl.Math. **66** (2011), 397-408.
- [28] A. SAICHEV, M. ZASLAVSKY: *Fractional kinetic equations: solutions and applications*, Chaos, **7**(4) (1997), 753-764.
- [29] R. K. SAXENA, A. M. MATHAI, H. J. HAUBOLD: *Solutions of certain fractional kinetic equations and a fractional diffusion equation*, Journal Of Mathematical Physics **51** (2010), ID103506.
- [30] R. K. SAXENA, A. M. MATHAI, H.J. HAUBOLD: *On fractional kinetic equations*, Astrophys. Space Sci., **282** (2002), 281-287.

- [31] R. K. SAXENA, A. M. MATHAI, H. J. HAUBOLD: *On generalized fractional kinetic equations*, Physica A, **344** (2004), 657-664.
- [32] R. K. SAXENA, S. L. KALLA: *On the solutions of certain fractional kinetic equations*, Applied Mathematics and Computation, **199** (2008), 504-511.
- [33] R. K. SAXENA, A. M. MATHAI, H. J. HAUBOLD: *Solution of generalized fractional-diffusion equations*, Astrophys. Space Sci., **305**(3) (2006), 305-313.
- [34] A. K. SHUKLA, J. C. PRAJAPATI: *On a generalized mittag-leffler function and its properties*, J.Math.Anal.Appl., **336** (2012), 797-811.
- [35] B. S. SHAKTAWAT, D. S. RAWAT, R. K. GUPTA: *On the solutions of Generalized Fractional Kinetic Equations Involving Generalized K- Bessel Function*, Journal of Rajasthan Academy of Physical Sciences, **17** (2018), 21-28.
- [36] A. SHAFEE, L. GALUE, S. KALLA: *Solution of Certain Fractional Kinetic Equations*, International Journal of Applied Mathematic, **27**(5) (2014), 437-453.
- [37] J. SINGH, D. KUMAR, D. BALEANU: *On the analysis of fractional diabetes model with exponential law*, Advances in Difference Equations, **2018** (2018), 231.
- [38] J. SINGH: *A new analysis for fractional rumor spreading dynamical model in a social network with Mittag-Leffler law*, Chaos **29** (2019), ID013137.
- [39] J. SINGH, D. KUMAR, D. BALEANU: *New aspects of fractional Biswas -Milovic model with Mittag-Leffler law*, Math. Model. Nat. Phenom., **14**(3) (2019), ID303.
- [40] H. M. SRIVASTAVA, P. W. KARLSSON: *Multiple Gaussian Hypergeometric Series*, Halsted Press, (Ellis Horwood Limited, Chichester), John Wiley and Sons, New York, Chichester, Brisbane and Toronto, 1985.
- [41] J. M. TCHUENCHE, N. S. MBARE: *An application of the double Sumudu transform*, Appl. Math. Sci., **1**(1) (2007), 31-39.
- [42] G. K. WATUGALA: *Sumudu transform: a new integral transform to solve differential equations and control engineering problems*, Int. J. Math. Educ. Sci. Technol., **24** (1993), 35-43.
- [43] G. K. WATUGALA: *The Sumudu transform for functions of two variables*, Math. Eng. Ind., **8** (2001), 293-302.
- [44] A. WIMAN: *Über den fundamentalsatz in der theorie der functionen*, Acta Math, **29** (1905), 191-201.
- [45] E. M. WRIGHT: *The asymptotic expansion of the generalized hypergeometric function*, J. London Math. Soc., **10** (1935), 286-293.V

SCHOOL OF MATHEMATICAL SCIENCES
SWAMI RAMANAND TEERTH MARATHWADA UNIVERSITY
NANDED-431606, INDIA
Email address: wagdialakel@gmail.com

SCHOOL OF MATHEMATICAL SCIENCES
SWAMI RAMANAND TEERTH MARATHWADA UNIVERSITY
NANDED-431606, INDIA
Email address: dypawar@yahoo.com